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1. Simplify to a power of 3: 32 +33+33= ?) % = ?)
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2. Simplify to a powerof15:  3-3-3-5:5-5 o
(3:5)

3. Solve to a number: 25.52 (2 5)2 '~23 = gOO

4. . Solve to a number: 22421420 | Y + 2+‘ = ‘q——
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5. Simplify to a power of 10:  1,000,000,000 lo’i /
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6. What ones digit do you get when you multiply out 1231257 < ' % = \ 236 - @)
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7. Simplify to a power of 2: 25+4:3+52+61+70 Mo g,
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8. Each of the numbers 2, 3, 4 and 5 are randomly assigned to a, b, cand d. Whatisthe’
largest possible value of' -T-—Q-‘ th '\'V\&M ’
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47 +37 =103%33
What is the last digit (the ones digit) for this sum, if you write it out and add it all up?
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10. Solve this, and then tell me the sum of the digits of your answer. For instance, if your

w5=~5 b 37> 33

answer is 19, the sum of the digits would be 20; and if you answer is 145, the sum is 10.
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11.  What s the remainder when 3777 is divided by 7? | ‘ %/CDC7 O
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The integér 64 is both some number squared (8) and some number cubed (4). Find the
. . , ,
next integer that has this same property. N c X"\' Aunber Wi n
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13. How many 30s must be added together to get a sum equal to 303? 3
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14.  Whatis the remainder when 21 is divided by 10?
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